BC’A/\(\J(A : FDU»VL‘MVQ:(AM-\, gag,QLQL“

Y L)
< \ ) U u
Xu\ HAU‘A-V“) Pariodde = - — + =
/ T, 2
>
— - f T o
=2 =2
2 /T\»/_\
T o
L +.£ 1 -(—Z ‘
—\ We 4 u - \Wo AN u - )Wkt
_A _ 1 (, & 2(u B
Ch—,\;gx&\e oM’,Egt 2 ou+_,:§ze oft
[PS __'_T{. ——I?
2
— okt .
- Sl L@l | = [ e it
Z—’;l T N}Ll
To
1o 2 - T .| 1Tl
:—OL"i*_T; ‘IWA-&(“'TO')"% e =
2Tt 2wl 4rdr ) €& — - ok | uwefl
o ):/
u( A A Tk @ p A iwk !
— eyl — L = M L — W .. —
z JWL +“\T7‘Lz\ z IWL\ +‘|1T1AL < zAly“d(W\ e CO‘)(‘W‘»)
— i — 1okt | _‘:‘_ 'éim‘ <« {meE
E ZTo -— "wo U T ZT; ;Wo‘\ iwol
= U : . Nl (FL\\ = — SC\.('LTA)
2'—0 HA)oL\
A A \ .
c1= U ((Fru— Fm ) sin = Fp eonrd
e —
r 2
(X =ix
2i-sin>= & —e
X —ix
Z -coo(x)'= C +&

Neuer Abschnitt 3 Seite 1



